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Choose the correct option to complete the sentence:

I have been at the painting.
(A) looking (B) looked
(C) look (D) looks

Choose the correct pair of antonyms from the pairs
given below:

(A) defriend-unfriend
(C) help-aid
Fill in the blank with the appropriate word:

(B) borrow-lend
(D) cajole-coax

People get and don’t listen any more.
(A) bore (B) board
(C) bored (D) boring

Change the voice:

The gate was opened by the peon.

(A) The open gate let the peon in.

(B) The gate opened to let the peon in.
(C) The peon opened the gate.

(D) The peon opened the closed gate.

Fill in the blank with the appropriate preposition from
those given below:

He left his phone the bed.
(A) at (B) in
(C) on (D) to

The umbrella which has a broken handle is mine.
What clause is this?

(A) Adverb Clause (B) Adjective Clause
(C) Noun Clause (D) None of the above
Change the following sentence into a Negative one:

He is as good as I am.

(A) I am not better than he is.
(B) He is better than me.

(C) I am better than him.

(D) He is not as good as I am.

8.

10.

11.

12.

13.

It was expected by the Romans that they would
conquer Carthage.

The Active Voice of the above sentence will be:
(A) The Romans expected to conquer Carthage.

(B) It was expected that Carthage would be conquered
by the Romans.

(C) Carthage, the Romans expected, was to be
conquered.

(D) Carthage was expecting to be conquered by the
Romans.

The plural form of ‘Deer’ is
(A) Doe (B) Deer
(C) Deers (D) Drakes

Identify the figure of speech in the following sentence:
United we stand — divided we fall.

(A) alliteration (B) antithesis
(C) assonance (D) pathetic fallacy

Replace the underlined word with the appropriate
idiom from those given below:

He has incurred debt.
(A) run up to (B) run out of
(C) run through (D) run into

When he gets his degree, he will have been studying
at Oxford for four years.— Which tense is this?

(A) Future Continuous Tense

(B) Future Perfect Tense

(C) Future Perfect Continuous Tense
(D) Present Perfect Continuous Tense

Replace the underlined verb with the appropriate
phrasal verb from those given below:

He must increase the production.

(A) step into (B) steep into

(C) step up (D) steep up

Disclaimer : Every effort has been made to ensure that the answer keys provided herein are accurate to the best of our understanding. These are for reference
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14.

15.

16.

17.

18.

19.

20.

21.

22.

Identify the participle in the following sentence:
Hearing the noise, the boy woke up.

(A) Noise (B) Boy

(C) Hearing (D) Woke

Which of the following is not an Abstract Noun ?
(A) Goodness (B) Youth

(C) Poverty (D) Parliament

Rewrite the following sentence in the positive degree:

He is the heaviest of all the boys.

(A) He is one of the heaviest boys.

(B) No other boy is as heavy as him.
(C) He is one of the heavy boys.

(D) He is heavier among the heavy boys.
Have you read Gulliver’s Travels?

The sentence is an example of

(A) Present Perfect Tense

(B) Present Continuous Tense

(C) Simple Present Tense

(D) Present Perfect Continuous Tense
Fill in the blank with the correct conjunction:

We carved not a line,
(A) and
(C) neither

(B) but
(D) or

Replace the underlined portion with an idiom from

the list below:

He will never be able to do anything remarkable.
(A) Heap coals of fire upon his head

(B) Set the Thames on fire

(C) Let the grass grow under his feet

(D) Put the screw on

Identify the incorrect spelling.

(A) Dissent (B) Decent

(C) Descent (D) Discent

Turn the following sentence into a question:

He was a villain to do such a deed.

(A) How was he a villian to do such a deed?
(B) Why did he do such a villainous deed?

(C) Was he not a villain to do such a deed?
(D) What made him do such a villainous deed?
Fill in the blank with the correct option:

grain they had was damaged by sea-water.
(A) A little (B) Little

(C) The little (D) So little

we raised not a stone.

23.

24.

25.

26.

27.

28.

28).

30.

Change the following sentence into an affirmative
one:

He is so weak that he cannot walk.

(A) He is too weak to walk.

(B) He cannot walk because he is weak.

(C) Walking is impossible for him for he is weak.
(D) Weakness disables him from walking.

Insert the correct word(s) in the blank:

He stayed at home because he a cold.
(A) is having (B) was had

(C) having (D) had

Rewrite the following sentence in the comparative

degree:
This book is the most interesting book I have read.

(A) This book is more interesting than any other
book I have read.

(B) This book is very interesting.
(C) This book is superb.

(D) This book is very much interesting than other
books I have read.

Give one word substitution for a person who compiles
dictionaries.

(A) Psephologist (B) Lexicographer
(C) Curator (D) Cartographer

Chose the correct option to complete the sentence: I
rushed to the door when the doorbell ___.

(A) ring (B) ranged

(C) ringed (D) rang

Choose the correct sentence from the options given
below:

(A) Noting by chance happening ever

(B) Nothing ever happens by chance

(C) By chance nothing happening ever

(D) By chance ever nothing happens

Identify the figure of speech in the following sentence:
To err is human, to forgive divine

(A) Hyperbole (B) Epigram

(C) Irony (D) Antithesis

The noun form of ‘Break’ is

(A) Breaking (B) Broken

(C) Broke (D) Breach
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31.

32.

33.

34.

35.

36.

37.

38.
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